10. A first order reaction 1s completed 20% in 10
minutes. Calculate : S

Qo1 oS FNY KRG 20% 79 K1 JAwg s
10 iS5 1 afoqt were frammz v R 3 ¢

(1) the rate constant

(i) the time taken for the reaction to become

80% complete

R 80% i =l ol 375y
(111) the half-life period of the reaction.
RiraoRr S-SR e

11. What volume of 0.1M CH,COOH 1s to be added

to 50 ml of 0.2M Na-acetate to prepare a buffer
solution of pH =491 ?2 = 3

50 & 0.2M sfoas «fothos aae T «ffImes
0.1M «foios «fte @9 €t 4.91 pHI TR ¥
oAFT =J 5o F9Y |
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Answer either in English or in Assamese.
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1. What happens when (any five) : . 1_5<.5=5
& 96 cfem (" @I «io6t) ¢
(1) Propanoic acid is reduced by LiAlH,
s affes LiAIH,3 7@ Relfis ke

(i) Ethane nitrile is acid hydrolysed

scam RDEET wEe Sefve we R
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(111) Glycine reacts with methanol .
, 3.  Write the name of the three reagents that are used

ARPE AR tiee R[Risrm ke for the test to distinguish between aldehydes and

: : o ketones. 1

(iv) D-glucose is oxidized by Br, -water S 5
_ CHRICELRSIRS ET UFT 2] (I

C-gaos A 2N tice ke [ IRTe (R TG st Fiw 4

(V) ; rlsn(l)ary alcohol reacts with K,Cr,0, and 4. "Glucose gives characteristic reactions of alde-
hydes." Explain this statement by giving the
AR W' K, Cr,0 1% H,S0,3 Gt | reactions with the relevant reagents. 2
RfeFm <G “PIF T @EfLReed Wiwe aETeem el

P gam” Ooige Rolks it s

(v1) Glycerol reacts with PCI, JFaR 5[ @3 ToHIRHI AT I 9|

e PCla e R s Or / &2l

(vi1) Ethane-l, 2-diol reacts with sodium ? Give the structures of the Fisher's Projection and
302 -1, 2-f2 R oS R 2 Haworth Projection formula of a-D-glucose and

Grst o . B-D-glucose. 2

' FeRe WiE A AT FIfet TS o-D-Zw

2. Predict the product of the following reactions : Wie B-D-2@'TF A6 e o

] x2=2 5. lIdentify the products 'A’, 'B' and 'C' for the

o7e frar NI [ismEes Sevdifte smdz following reactions. (any two) : 2x2=4
fe1a1 2 SEE Riramnas ‘Al 'B' s 'C' fore w4t (10

(I §6Y) ¢ ‘

(i) + H NHN é@* NO alc OH . --
' : CHal

(1) (o] + NaOH ___,A 73
OCH,

(i) ‘ + CHCI, + KOH _ale. 7 = ~
o Frledal—Craft @ CH e

Ik i
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C(i)CH,COOH _NH3 & g 505 ¢

(iii) CH,CN __H0 ,, NH; .n &8 .

(}V) A SOCl, B Na/ether

6. Write short notes on any two :
55 Gre B (B Qe wot) ¢
(i) Williamson's ether synthesis

CEIGEINEOE BV SR N LR

{it) Common ion eftect

SER I O G (Y
(iii) pH and pH scale
pH @iw pH (I
(iv) Claisen condensation.

@3] IO |
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CH,—CH,

2x2=4

7. Explain any four giving reasons. 1}2x4=6

FRe vz T i sif{e @iy 90

(1) Glycerol is more viscous than propanol.
Yolierers faoel [@fe s |

(i1) Benzoic acid is stronger acid than ethanoic
acid.

3R ol @eRis 9o @B SF!

(iii) An increase in temperature increases the rate
of the reaction.

TSl ot [RiFa sifeow@s |

(1v) Electrophilic substitution of aromatic amines
are faster.

AT quizTs G dfevim Rigm
Hoe] 2| |

(v) Physisorption decreases with increase in
temperature.

CHS! IO (SIfed HGOeNT] A 207 |
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(iii) Bakelite is obtained from phenol by reacting
with ....... .

(acetaldehyde / formaldehyde / baking soda /
formic acid)

8. Find out the correct answers from the following
(any four). | 4x]1=4

oo nal R =9 v Ten! iz Sfeed - |
(R i sif<o) s Fed OIS ... RiFaw w0 @10

Ty Tl -
(1) The reagent with which both acetaldehyde (@fBroeaEe / Frkaze/ @R 5ul/wiE
and acetone reacts easily is ....... . o)
(Fehling solution / Grignard reagent / Schiff's (iv) The reaction CHN.ClI _ ﬂCu2C!2/ HEL
reagent / Tollen's reagent) ' . CHCl + N, is called ... .
«focoafomze =i Aithas e Azsice R I (Etard reaction / Sand Meyer reaction / Wurtz
ST S T | | - Fittig reaction / Perkins reaction) =
(Creferen @ / RtaTe R / Bee'sa Rt CHN,Cl _CuChL/HCL . CHCI + N,
| SR Rees) ' RiFIH & ........
. s -- (e RfFn /we-cmm R /aSe-{os
(n) Ketones are the first oxidation product of .... . 1 S / YiRfeE R
(priumary aicohol / secondary alcohol / tertiary (v) 4 gm of NaOH is dissolved in’1 lit of water.
alcohol / dihydric alcohol) _ The pH of the solution will be ........ .
. (1/0/7/13)
- =69 am ... T TR 90 ST (9 oUN 4 o NaOH 1 BioR «ifie afigs 3 za
G ' ' ' . @R pH = ... |
(AN Go7'2E /(HLAeS] Qo gs /OIRiRai<] (1/0/7/13)
T /ORI 9eeE) - . _
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Or / 94y

Explain the following statements : 2x2=4

e Sfew g i 311 3

(1) At a given temperature, the higher the
activation energy of a reaction, the slower is

the rate.

G5! W Casere, R @oir Ffew «fs 3
e [iFar afswe @ =3

(1) Half-life period of a first order reaction
decreases with increase in temperature.

el IAE @B o @ RfFmR ol

GIRAPE B AT |

9. Arrange the tollowing in increasing order (any

four) :

(i) CH,COOH, CICH,COOH,

C1,CCOOH (acidity)

afolts «fbw, g9hbts Wbhs, wizg'Tulsiis

1 x4=4

TS frarz Sdese FreRt (R i oifbi) &

CL,CHCOOH,

afoe, Gk «fols ube (wifsse)

3/3(Sem 4) CHM
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(ii) Acetamide, aniline, methyl amine, dimethyl
amine (basicity).

afSwse, eRfem, FAEa auizs, oiRfEAEe
A3 (FIFY OO |

(iii) Primary alcohol, secondary alcohol, tertiary
alcoho!l (solubility).

AR G, GRS G, TR
GRS (TS |

(iv) Aniline, p-methyl aniline, p-nitro aniline,
o-methyl aniline (pK, value).

«fifew, p-Ruzw. offfew, paRE «ffem,
o-ffEe «lRfeiw (pK I 31=) |

(v) Primary alcohol, secondary alcohol, tertiary
alcohol (boiling point).

ABNT] GFTZE, (BLICH! GFH =, DIRRASA
OQF T %, (Do) |

(vi) p-nitroaniline, p-methyl aniline, aniline,
n-propyl amine (reactivity towards acids).

pETRRE, p-fwEd  aRfEE, afPE,
n-2eids auzd (9 ce Rfeme &9

SR) |
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